
Nut washer

FTG, MALE ELBOW, 1/8UNI X 8MM TUBE OD
S.H.C.S. M4X8MM CRES W/LKG LMNT

FTG, PLUG IN, 8 X 8MM TUBE OD
VACUUM FILTER,TUBE DIA=8MM

TUBING, POLYURETH, 5MM ID X 8MM OD BLUE
SCRE,EXTRA LOW HEAD CAP,M4X6MM

S.S.S. M3 X 10MM,CUP POINT,PATCH,CRES
SW.SPDT 3A/250VAC HINGED ROLLER LEVER
LABEL,SELF-LAM 3/8"X1" CMPTR-PRINTABLE

CONN.,RCPT,IDC,2POS 26-22AWG .1CTR LATCH
SLEEVE BRAID FR.N.DIA=0.250" WHITE

WIRE,PVC B 28AWG(7X36) RED 600V 105C
WIRE,PVC B 28AWG(7X36) BLACK 600V 105C

TBG,SHRINK .062ID .020WALL BLK PVC
S.H.C.S.,M3X6MM,CRES,FULL THREAD
S.H.C.S.,M2X10MM,CRES,FULL THREAD

CLAMP,CABLE,NYL 3/16"ID 3/8"W #8 HOLE
S.H.C.S M3X5MM CRES LMNT

CONN.,RCPT,IDC,5POS 26-22AWG .1CTR LATCH
CONN,PIN,2POS,26-30,SHRD,PLZD,LCH,.1CTR
CONN,PIN,5POS,26-30,SHRD,PLZD,LCH,.1CTR
WIRE,PVC B 28AWG(7X36) WHITE 600V 105C

WIRE,PVC B 28AWG(7X36) YELLOW 600V 105C
WIRE,PVC B 28AWG(7X36) BLUE 600V 105C

CABLE TIE MOUNT,ADHESIVE BACK
CLIP,CORD W/ADHESIVE,NYLON

CABLE TIE 4"L .10"W .75" DIA BUNDLE
WASHER,FLAT M3 (3.2X7.0X0.5MM)S/S BO

P-CLIP CR3 3MM; NYLON BLACK
SCREW, ALLEN M 3 X 6; BN 11 DIN912

HOLDER, CABLE TIE M3/M4(d=3.8); FOR CABLE TIES TO 4.8MM
SCREW, ALLEN M 3 X 6; BN 2844 DIN7984 A2 1/2 HEAD

NUT M 3 0.8d; BN 628 DIN934
SCREW, ALLEN M 3 X16; BN 3 DIN912

CHAIN, CABLE E03.05.028 140MM; WITH CONNECTOR
SCREW, COUNTERSUNK M 2 X 4; BN 363 DIN963A

SCREW, GRUB M 3 X 3; BN 617 DIN913
GROMMET EDGING ADHESIVE LINED SLOTTED WALL .17W X .19H

STEPPER MOTOR 2.3V / 2A
SCREW, ALLEN M 2.5X 6; BN 610 DIN912

PIN 1.5X 10 h6; BN 858 DIN6325
SCREW, ALLEN M 3 X20; BN 11 DIN912
SCREW, ALLEN M 3 X 6; BN 610 DIN912

                               1 / 4



WASHER 3.0/ 6 X0.8; BN 223 DIN1440 o. FASE
SHIM 3/ 6 X0.1; BN 1976 DIN988
CIRCLIP AS 3; BN 819 DIN471

BELT, TIMING P=T2.5 L=330; B=6 Z=132
SCREW, ALLEN M 3 X 4; BN 3 DIN912

BEARING, LINEAR W1=7 L0=150; W=17 H=8 B=12 1CAR.
SCREW, ALLEN M 2 X 6; BN 610 DIN912
BUSH 1.5/3X2; IGLIDUR GSM-0103-02

PIN 1.5X 12 h6; BN 858 DIN6325
SCREW, GRUB M 2 X 8; BN 617 DIN913 A2
SWITCH, PROXIMITY; E2S-Q13 END FACE

CRIMP CONTACT MALE AWG22-28; MOLEX MINI LOCK
CONNECTOR 03 POLE 1R FEMALE; MOLEX MINI LOCK PANEL MOUNT

SCREW, ALLEN M 2.5X 4; BN 11 DIN912
SCREW, ALLEN M 3 X 8; BN 610 DIN912
SCREW, ALLEN M 2 X 5; BN 11 DIN912

SCREW, ALLEN M 2 X10; BN 610 DIN912
SCREW, ALLEN M 2 X 5; BN 610 DIN912

SCREW, KNURLED M3X10 HIGH; BN 1452 DIN464 GALVANIZED
SENSOR, OPTICAL FORK OMRON T-S; OPTICAL FORK 5mm EE-SX472

LOCTITE 222 PURPLE; 10ML SCREW LOCKING
LOCTITE 480 CYANACRYLAT; 20g LIQUID SHOCK RESISTANT

LOCTITE 638 GREEN EXTRA STRONG; 50 ml RETAINING COMPOUND
CABLE 03X0.14 UNITRONIC-FD; CABLE 03X0.14 OELFLEX-FD 850

CRIMP CONTACT FEMALE 0.14; OMRON EE-1006C
CONNECTOR 04 POLE 1 ROW; OMRON EE-1006H

SCREW, GRUB M 2 X 3; BN 617 DIN913 A2
SPRING, COMPRESSION; 0.20/02.00X017.80 VD-011

SPR, COMP, 0.088 OD 0.012 WD 0.125 L
LINEAR GUIDE CARRIAGE WITH AJUSTABLE CLEARANCE

S.H.C.S. M4 X 12MM L CRES W/LKG LMNT
S.H.C.S. M4 X 30MM L CRES W/LKG LMNT
S.H.C.S M4 X 20MM CRES W/LKG LMNT

NUT,HEX M4(7.0X7.66X3.2MM) CRES
HANDLE, LEVER CLAMP M8X20MM LG

WASHER FLAT M8(8.4X15.5X1.6MM) STEEL
SHCS, M6 X 12MM; CRES FULL THREAD

S.H.C.S.,M5X20MM LG,CRES,W/LKG LMNT
S.H.C.S. M6X20MM CRES W/LKG LMNT

WASHER,FLAT M6 (6.4X12.5X1.6MM) S/S
WSHR,LOCK SPLIT M6(6.1MMX11.8MMX1.6MM)

BHCS M3X0.5L=5MM SST
LEVER, CLAMP M5 X 12

STANDOFF, HEX FEMALE, THD M3 L=25MM
STANDOFF, M/F 6MM HEX X15MM LG M3 THD

S.H.C.S. M3X8MM CRES W/LKG LMNT

                               2 / 4



S.H.C.S.,M4X10MM,CRES,FULL THREAD
WASHER FL 12MM OD 3MM ID 1MM THK

SPRING_COMP_2.24MM OD_0.30MM WD_19.05MM L_MW
S.B.H.C.S. M3X4MM,CRES LCKNG L

S.H.C.S. M3X20MM CRES W/LKG LMNT
S.H.C.S. M3X14MM CRES W/LKG LMNT

CBL 4 COND 24 AWG SHLD HI-FLEX 250V 70C
CONN HSG RECPT 4POS FREE-HANG 94V-0 NYL

CONTACT, SOCKET 18-24AWG .051-
TBG,SHRINK .25ID.25W BLK POLYFN

TBG, SPRIAL WARP, .0250OD, NYLON, NATURAL
CLAMP,CABLE,NYL 3/8" ID 3/8"W #8 HOLE

BHCS M4 X0.7 L= 6mm SS PA BP
LABEL THERMAL TRANSFER 75MM X 25MM PP MATT WHITE
PACKAGING BOX WITH LAMINATED POLYETHYLENE FOAM

CABLE TIE 8-1/8"L .14"W 2" DIA BUNDLE
HEXAGON SOCKET HEAD CAP SCREW_ DIN912_M6x12_STAINLESS STEEL

CBL,6COND,22GA,PVC,150V,80C,7/30
CONN,HSG,RECPT,12 POS,FREE-HANG,94VO NYL

CONT,RCPT,16AWG,.071-.12INS,BR
CONNECTOR 03 POLE 1R MALE; MOLEX MINI LOCK

CON.FEM.CRIMP 22-28AWG 3A 250V
TBG,SHRINK .125ID .025WALL BLK PVC

LABEL, CABLE B-502 VINYL CLOTH 1.5"X.25"
CONN, HSG PLUG 12POS FREE HANGING

CONTACT,PIN 18-24AWG .051/.122
CONN HSG 2R 22POS 2MM CTR

CONTACT FEMALE 22-26AWG TIN PLT
LABEL, WHITE POLYESTER 1W 0.5H
WIRE,PVC 600V,19STRAND BLK 22

WIRE,PVC 600V.19STRAND,22AWG,RED
WIRE,PVC 600V,19STRAND YELLOW

WIRE,PVC 600V,19STRAND BLUE
WIRE, TEFLON 24 AWG BLK 600V 200C

TERMINAL,RING PIDG 24-20AWG #6, NATURAL
TERMINAL,RING PIDG 24-20AWG #4, NATURAL

LABEL,SELF-LAM.5"X1.0" VINLY WHITE
WIRE PVC B 20AWG(7/28) BLACK 600V 105C

TERM.LUG RING INSUL.#18-22/# 6 CRIMP
TERM.LUG RING INSUL.#18-22/# 8 CRIMP

HEXAGON SOCKET HEAD CAP SCREW_ DIN912_M3x20_STAINLESS STEEL
HEXAGON NUT STYLE1_TYPE A_STAINLESS STEEL_M3x0.5

WASHER_FLAT_M3_DIN125_3.2 I.D_7 O.D_0.5 THK_STAINLESS STEEL
WSHR,LCK.INT. M3(3.2X6.0X0.4MM) S/S BO

BHCS M2 X0.4 L= 4mm SS PA BP
S.S.S. M3 X 5 CUP

                               3 / 4



S.S.S. M3X3MM LG CRES CUP
S.S.S. M2.5 X 3MM CRES PA CUP PT

TUBING POLYURETH, 2.5MMID X 4MMOD
CABLE,CLAMP,NYL 1/4" ID 3/8"W #8 HOLE

PLASTIC FIBER ADAPTERS
FIBER UNIT, THRUBEAM, FLAT BRACKET FIBER
ADHESIVE,CYANOACRYLATE,KIT W/ACTIVATOR

S.H.S.S. M3-0.5 X 5MM NO-MAR N
S.H.C.S. M4X5MM CRES W/LKG LMNT

FITT.STR.BARB HOSE=4.0MM TR= M3X0.5
WASHER,FLAT,SM PAT M4(4.3X8.0X0.5MM) STL

FITT UNION TUBE = 6M TO M STR
TUBING,POLYURETHANE 1/4"ID 3/8"OD CLR.

FITT UNION-TEE,3X TUBE OD=3/8"
UNION,STRAIGHT,DIFF DIA'S, 1/4 X 3/8"

CONN HSG RECPT 2POS FREE-HANG 94V-0 NYL
CONTACT, SOCKET 22-28AWG .035-

CONN PLUG 2 POS 1M LG 2 COND 22 AWG
TBG,SHRINK .188ID .025W BLK ADHV.POLYLFN

FLHCS M2X0.4 L=4MM ALLOY STEEL
S.H.C.S. M3X6MM CRES W/LKG LMNT

S.S.S.M4X4MM, S/S FLAT PT
BHCS M2X0.45 L=4MM SS

WASHER,FL .156"OD .084"ID .025
CONN.RECT. 2POLE 3WIRE 30A 250

LABEL,SELF-LAM .75"X1.9" CMPTR-PRNTBLE
CONN,PLUG,3PIN,13A FUSE, BS1363/A

CBL,3COND,2.5SQ MM,PVC,UNSHLD,300V 70C
CBL,3COND,12GA,RBR,450V,60,56X.30MM UNSH

CONN PLUG PWR 250V 30A ZP 3W LOCKING
WASHER,FLAT M1.6 (1.7X4.0X0.3) S/S BO
S.H.C.S.,M1.6X6MM,CRES,FULL THREAD
FTG HOSE 1/16" TUBE ID TO 3-56 M NPT

Powered by TCPDF (www.tcpdf.org)

                               4 / 4

http://www.tcpdf.org

